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b [oIAl 12-1] (1) HHEAH (ML)

#define PORTNUM 9001

int main(void) {
char buf[256];
struct sockaddr_in sin, cli;
int sd, ns, clientlen = sizeof(cli);

memset((char *)&sin, '\@', sizeof(sin)); ! Al FAJAZRA|

sin.sin_family = AF_INET;
sin.sin_port = htons(PORTNUM);
sin.sin_addr.s_addr = inet _addr("0.0.0.0");

if ((sd = socket(AF_INET, SOCK _STREAM, 0)) == -1) {
perror(“socket"); ‘<{
exit(1);

}

if (bind(sd, (struct sockaddr *)&sin, sizeof(sin))) {
perror("bind");
exit(1);

ki A
if (listen(sd, 5)) { <{_;LE'*°|°JE 2= il ]

perror("listen");
exit(1);




b [oIAl 12-1] (1) HHEAH (ML)

while (1) {

if ((ns = accept(sd, (struct sockaddr *)&cli, &clientlen)) == -1) {
perror("accept"); V'
XL S2I0[HE &

}

sprintf(buf, "%s", inet_ntoa(cli.sin_addr));

printf("*x* Send a Message to Client(%s)\n", buf);

strcpy(buf, "Welcome to Network Server!!!");

if (send(ns, buf, strlen(buf) + 1, 0) == -1) {
perror(“send");
exit(1); — T

} SEL0|EY HEMS

if (recv(ns, buf, sizeof(buf), @) == -1) {
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perror(“recv");
exit(1); ‘::{
}

printf("*x From Client : %s\n", buf);
close(ns);

}

close(sd);

return 0;




d (oA 12-1] (2) HHEAH (220U E)

#define PORTNUM 9001

int main(void) {
int sd;
char buf[256];
struct sockaddr_in sin;

memset((char *)&sin, '\@', sizeof(sin));
sin.sin_family = AF_INET; <:{

sin.sin_port = htons(PORTNUM);
sin.sin_addr.s_addr = inet_addr("192.168.162.133");

if ((sd = socket(AF_INET, SOCK _STREAM, 0)) == -1) {
perror("socket");
exit(1); =TS

}

if (connect(sd, (struct sockaddr *)&sin, sizeof(sin))) {

perror("connect”);
, oot EURE %;]
.




d (oA 12-1] (2) HHEAH (220U E)

*x From Client :

I want a HTTP Service.

~ )
if (recv(sd, buf, sizeof(buf), 0) == -1) {
perror("recv"); g
, e ME{el HlojE] 44
printf("** From Server : %s\n", buf);
strcpy(buf, "I want a HTTP Service.");
if (send(sd, buf, sizeof(buf) + 1, @) == -1) {
perror("send"); S
exit(1); MO HOJE &A
}
close(sd); # ex12_1s.out A H
return @; # ex12_1c.out =2IO0[HE
k} *x From Server : Welcome to Network Server!!!
# ex12_1s.out A H
*x From Client : I want a HTTP Service.
# ex12_1s.out A H




d [OIAl 12-2] (1) SAl 52 A (M)

#define PORTNUM 9002

int main(void) {
char buf[256];
struct sockaddr_in sin, cli;
int sd, ns, clientlen = sizeof(cli);

if ((sd = socket(AF_INET, SOCK_STREAM, 0)) == -1) {
perror(“socket");
exit(1);

}

memset ((char *)&sin, '\@', sizeof(sin));
sin.sin_family = AF_INET;

sin.sin_port = htons(PORTNUM);
sin.sin_addr.s_addr = inet_addr("0.0.0.0");

if (bind(sd, (struct sockaddr *)&sin, sizeof(sin))) {
perror("bind");
exit(1);

}

if (listen(sd, 5)) {
perror("listen");
exit(1);




d [OIAl 12-2] (1) SAl 52 A (M)

while (1) {
if ((ns = accept(sd, (struct sockaddr *)&cli, &clientlen)) == -1) {
perror("accept");
exit(1);
}
switch (fork()) { <{ fork2 AHAl D2 A A A
case 0:
close(sd);
strcpy(buf, "Welcome to Server");
if (send(ns, buf, strlen(buf) + 1, 0) == -1) {
perror("send");
exit(1);
}
if (recv(ns, buf, sizeof(buf), 0) == -1) {
perror("recv");
exit(1); AHAL T2 N AT}
} SC0|HE=
printf("*x From Client: %s\n", buf); MA|A] ELHD
//sleep(5); E (O] = ]
exit(0); J
}
close(ns);
}
return 0;
}
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# ex12 2s.out
*x From Client : I want a HTTP Service.

« Z2O0|HEE= exl12 1c.cE& EZEHSON HR T OLHE AR

# ps -ef | grep ex12
root 7175 7172 0 09:55:32 pts/2 0:00 ex12 2s.out
root 7172 1571 @ ©09:55:18 pts/2 0:00 ex12 2s.out
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